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@ a/ A Me‘h,_( Suylace S }Huma‘m“l'eat wita ij‘l’ whose
WQVQIO/\ﬁ‘H’\ 1S 5‘4_,,("‘*' m;o\ﬂb\ ‘{b ?f‘aaluce ?%&}QC%V’OAS
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a) I+ S‘b\)f.s 'er Same

b) T+ doubles (increases by loo% )

<) T4 :V\CT&SCS/ btd' b?z ICQS than P2
"‘)I‘t s cut in LIAH:'

9T+ inCveases L}( nore than Joo?,

@Au & particle is a bound State of wo Protons and
Twe weutvons. The mass of an « ’Pa«“hcle is
9 grectar Hhan Qs 2,
b) e,c]uml o Qm,+9m,
¢) less +han Ay + D, 1

J) any O{-H»\e above, depend.'nj on its ve locity
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er equa”Y SFaced ?lfw%o\AS Po,aur.‘%ea( a+
4’50 '('o «H«e Ve(—l—l—CﬂL[ are }AC;AQU\-]— (Aq)an o

VZ‘“[’;C&\‘Y Ori€A+¢d F\glar'ﬁ_’ef) ac shouown . Which

of  the -Eol\owif\g ?]c+ure: represeh‘g]a Fossible outcome o this
ex Per:men+?

A)

GIVE ALL ANSWERS

8) m THAT APPLY.

(n,J‘e.: E vepreseds a4 case wheve the Ist 2 phobns are absorbedsthe lagt 2
are  tronsmitted jwhile in ¢, dhe 2-4 and 44n wal'o.«s Qe 'l'mn.smi-l"hd)
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@ A rPa\mlic\e s 1mass {‘lol"b?,/lé1 c{eCayg e 2 Phal'bns_ T
{D\Q 'Pa.r“hcle was l\’\;‘l‘l\a”)/ a+ Ves"[, (Jaa:‘l' ave +Hie Lorve 'er\j{'hg
ok dhe Y\Iw‘*oﬂ s? (2 poinets)
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ED’ Y d A Ve\f'\';Ca”y ’Polo«(;%&{
| (ﬁ — fP"“’_\"""‘ is mcident on a
volavizer orietted &b 6o
' ‘I’o «H/\e V&/“"]qu) Qo”oweol

b)/ a )Dofarizer oriented

vertically. What s the probability that +he phston
wil pass “H/\r“ouﬁl/\ botha ?OlQV\IMS? (3 points)
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A lem donel of nass M s Travelling in the 1% divection
0“_ VQ‘()C-\%P/ %C Lo‘/l‘\ lC s X CLLOCO'%‘"’Q d{bnu_i‘ IS '{'V‘Q-UQH\'PS o "HA.Q
—”;( c{;re_c‘hor\ with Sfeed ;C-

2) \/J‘N{\— 15 the  momedtum of Hee chocolate donst i the ‘C\famé’_
ok the fP]aIV\ donet? (3 ?0‘./\‘)(5)
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L) Tf ke “wo dondds collide _»iv\equTLme?/ and stick -\qﬁc{l/@r/
ulrxo\“l" s the mass o‘I‘ the Y‘esu{‘HAa oloée(j‘? (1 Po‘.n'l')

(No'rc-:'- ~H«‘ZS qu\eS‘hw\ sn't [,oor““’l mnch —&r +Hie  amount o work
requived, so it's best 4 do e\/ef)('t’lnims else first)).



